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TImeAIlowed 20 minutes Sectmn A

_ Mark-s: 16
Q- Write the correct option i.e. A, 8, C or D In the empty box provided opposite to each part.

i. DOS slands far -A. Doclor of | B. Documentof  C. Diskoperating. D. Noneof these
: : . system. system _ system
. ADBMSIn whichrelalionships A, Linux B. MSword - C. UNIX D. Window XP
are lrealed as lable is called...... )
i, Ap_rocesscbnsislsof A. Five o Thiee - G Two R
....5lales. : R . .
iv. Theexpression E=8+474%3 A, 4 . BU8 B O o " D, None of these
' evaluata lo....... ) ' :
v. InCttlanguagecharch='a® A Adigt . B An intsger .C. Acharacler  D.” Aword
represents ... - : censtant constant
Vi is subset of & G+ A Clanguage = B.  Java . C. Blanguage B. C#ianguage
 language. _ . - ’
vil.  Which of the given header file ~ A, <iostreamh> B, _ <slring.h> C. <conioh> D. <sstream.h>
must ba included o use clrser {) :
funclion?
vili.  Strings are character arrays, The A, \n B, : c. 0 - p. }?
Jast index of it contains the null o
“¢haracter....... _
iX.  ...dsnotajumpstatementin A, Break 8. Golo "G Exit . D, Swich -
G+,
x.  Wededreafuncionwith......if A Long  B. Double C. Void - D. int
{tdoes nothave anyrelum type. - o o ' ) _
xi.  Variablgs inside parenlhesisof A Local B. Global : C. Module ) D. Universal
hinction declarations have .. . o : '
level access. '
fi. - Atextfle has the extension..... A, doc B. docx CoCoM . D, bin ]
«iii. EQF stands for ........ " A Ermorsonfiles B, Endoffile C. Ewioflie D, None of these I:l
xtv. Normally a function can refurn A, 1. B. 2 . o3 D. 6§

......... value.

xv.  Variables are createdin ...... A. RAM B. ROM ‘ C. Hard Disk D, Cache I:]
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Note: Time allowed for Section - B and Sectlon-Cig 2 Hours_ and 40 minuges.
Section - B - _ . Marks: 40
Q:AII .' 'Anawu any TEN parts. Each part carries FOUR marks

Define process. Discuss New, Runnmg and Blocked state of a process.
Differentiate muititasking and multiprogramming. .

1
2
3. What iz meant by the term software requrement‘?
4 Dlﬁerentlate algorithms and flowcharts. .

5

Evaluate the following. _
a. (faised&true) || false. - b, H5>6|13>4)

&

Write rules for na‘mi'ng' variables in C++.

Write general syntax of if statement.

8. Define array. Wnte down the general syntax for the derclarauon of
one dimensional array

9.0 Write down the general syntax fcn the declaration of string |n Gkt
10.  Differentiate local and static varlables

11, What is function’ prototype? -

12, What is inline function?

13, Différentiate class and dbjéct. :

Sec’uon C o Marks: 20
Jote : Attampt any TWO questions. All questions cuuyaqudi marks o

2Hi What is access Specmpr? Discuss pnvate and: prI;t, access specifiers with C#+
programmmg exampie ' '

=V Define dist_ribu_ted operating'sys'tem and describe its advantages and disadvantages.
-V Write note on the foliowing.

" (a).  if-else statement
(b).  Continue statment -



